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Division problems (4-digits)

Set out and solve these:
1. 3426 + 3
2. 4168 = 4

3. 6471 +5

Solve these problem:s:
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4. The Headteacher shares 1824 multilink cubes between 4 classes. How many cubes does each class get?
5. 2636 sweets are put into packets of 5. How many packets will there be? How many sweets are left over?

6. 2234 marbles are shared between 3 children. How many does each child get? How many are left over?

((Challenge )

A woman has £1700 pounds. She wants to give 3 to the cat’'s home, § to the dog's home and § to the
Woodland Trust.

To the nearest £1, how much money will she have left?
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